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QUESTION: 152
 
Which of the following is FALSE about IMAP?
 

A. IMAP manipulates the mail on the server without creating a local mailbox. 
B. IMAP alters the messages after storing them in a local mailbox. 
C. Messages can be deleted directly on the server. 
D. IMAP requires continuous access to the Internet while users access their e-mail 
accounts. 

Answer: B 

QUESTION: 153
 
POP3 allows a client computer to retrieve e-mail from a POP3 server through TCP/IP.
 

A. TRUE 
B. FALSE 

Answer: A 

QUESTION: 154
 
INNis an implementation of which of the following protocols?
 

A. ftp 
B. http 
C. nntp 
D. smtp 
E. None of the above. 

Answer: C 

QUESTION: 155
 
Which of the following Web browsers can be used with Linux?
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A. Amaya 
B. Arena 
C. Netscape Communicator 
D. Lynx 
E. Xmosaic 
F. All of the above. 

Answer: F 

QUESTION: 156
 
Which of the following is a text-based Web browser?
 

A. Netscape 
B. Mozilla 
C. Lynx 
D. Arena 
E. Textix 
F. All of the above. 

Answer: C 

QUESTION: 157
 
Small programs that allow Web browsers to play audio and view video are known as:
 
(Select the best answer.)
 

A. Plugins 
B. Cookies 
C. Proxies 
D. Modules 
E. All of the above 

Answer: A 

QUESTION: 158 
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In order to share a directory with a Windows machine, the _____ file must be edited to 
include data on the path of the directory, the permissions of the directory, the name of the 
share, the name of the computer, etc. 

A. smb.conf 
B. smbpasswd 
C. win.conf 
D. samba.win 
E. netconfig.samba 

Answer: A 

QUESTION: 159 
What is Kibitz? 

A. A benchmarking tool that allows a user to test the performance of networking 
applications. 
B. A configuration tool that allows a user to manipulate network settings. 
C. A system administration tool that allows the superuser to recompile the kernel 
remotely. 
D. A networking tool that allows users to communicate. 
E. All of the above 

Answer: D 

QUESTION: 160
 
For which of the following is WvDial primarily used? (Select the best answer.)
 

A. It configures a Linux system to utilize a direct connection to the Internet. 
B. It configures a Linux system to utilize a dial-up connection to the Internet. 
C. It configures a Linux system for ISDN support. 
D. It configures a Linux system for IP telephony. 

Answer: B 
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QUESTION: 161 
Sid attempts to ping a remote host by name. Ping does not produce any output and Sid can 
only recover from it by pressing CONTROL-C. Which of the following are reasons for 
this? (Choose two.) 

A. Sid forgot to append the " -F" (force) option to the command. 
B. The target host is refusing to accept ICMP packets. 
C. Sid's name server(s) is not functioning properly. 
D. The gateway or router is dropping packets due to buffer overruns. 

Answer: B, C 

QUESTION: 162 
Will wants to display an xterm on the remote host, trombone, from his local client, star. 
He issues the following command: "[will@star]$ xterm -display trombone:0" and 
receives the errors below. Which of the following will more than likely correct BOTH of 
these errors AND allow Will to accomplish his goal? 
Xlib: Client is not authorized to connect to Server xterm Xt error: Can't open display: 
trombone:0 

A. On star, run the command "xterm -display trombone:1". 
B. On trombone, run the command "xterm -display star:1". 
C. On trombone, run the command "xhost +star." 
D. On star, run the command "xhost +trombone." 

Answer: C 

QUESTION: 163
 
Katie can only connect to remote hosts from her workstation by using IP addresses.
 
Which of the following are possible reasons for this? (Choose two.)
 

A. The named daemon on Katie's machine is not running. 
B. The network cable is bad. 
C. The "/etc/hosts" file may have some errors. 
D. The "/etc/resolve.conf" file has the following file permissions: -rw-r--r--. 
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E. The name server is not responding. 

Answer: C, E 
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